
ALG	III		3/12/18	 	 	 	 	 	 	 	 Name:__________________________	
Log	Properties	
	
Warm	Up:		Solve.	
	
a.	 log3 x = 2 	 	 	 b.	 2 ⋅4 x = 32 	 	 	 c.	 3x = 8 	
	
	
	
	
	
	
	
e.	 3⋅2x = 48 	 	 	 f.	 !!2log3(x +1)= 4 	
	
	
	
	
	
	
	
EX	#1:		Solve.			
	
a.	 log2 4 + log2 8 = log2 x 	 	 	 	 b.	 log3 27 − log3 9 = log3 x 	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	



Ex	#2:	Solve.	
	
a.		 !!log3 x + log35= log325 	 	 	 	 b.			 !!log5(x +1)+ log53= log5(2x −7) 	
	
	
	
	
	
	
	
	
	
	
	
EX	#3:		Given	 log5 7 ≈1.21 	and	 log5 3≈ 0.68 	find:	
	

a.	 log5 21 	 	 	 b.	 log5
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d.	 log5 35 	 	 	 e.	 log5175 	 	 	 f.	 log5
5
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Assignment:		pg.	561	#21,	24,	27,	30,	33,	35,	36,	42,	45,	46,	49,	52;	p	577	#35	


